The null and alternate hypotheses are:

H0: π1 ≤ π2
H1: π1 > π2
A sample of 100 observations from the first population indicated that X1 is 70. A sample of 150 observations from the second population revealed X2 to be 90. Use the .05 significance level to test the hypothesis.

a. State the decision rule.

b. Compute the pooled proportion.

c. Compute the value of the test statistic.

d. What is your decision regarding the null hypothesis?
SOLUTION

The decision rule is the process which is used by researchers which leads to the acceptance or rejection of null hypothesis. Adding to this, decision rule provides the information which is easily understandable and represent the knowledge which contain the organizational data in the form of tables. This decision rule can generally used by management for the better decision making which further based on the real information. Furthermore, hypothesis further confirmed by the decision rule because it provides the relevant information which support the hypothesis. 

a.
Ho is rejected if z> 1.645

b.
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d.
Ho is not rejected
